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SET-3

Series SSO/2 w=ed. 57/[2/3
Code No.

T 3. glermelf ®Ig H IH-YETH ® @I85

Candidates must write the Code on the
title page of the answer-book.

o FHUAI G F A foh 380 Y97 H Higd Y8 11 2 |

o TH-UA H Fied FTU HI AR T T Shig ¥R Hl B IT-IEehl o JE@-I8 W
g |

o FHUII I B A foh 30 TH-TAH 26 TH § |

o HUAT T 1 IW {TEHT & HIH ¥ UgeA, T T HuTeh a9 ford |

o U WU Wl UG o [T 15 e 1 ww fean mn 8 | weA-uA 1 o qahE
T 10.15 S fopaT IT@W | 10.15 S H 10.30 1 b B hadd IH-UF I TeTl
3T 39 AT & R o IT-YFEdh! T g I &1 fora |

e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

SIERERIEN L EAIEED)

BIOLOGY (Theory)
fAEiRa @ - 3gve S7ferBadH 3% : 70
Time allowed : 3 hours Maximum Marks : 70
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Q=T 3397 :
(i)  ¥o7-97 § 9l @S] 7 26 397 3T 70 & | @4t 397 79 & /
(i) TUSA H I T G 5 37 TG-F707 397 8, Y% o7 1 3% 1 & |

(iii) @USB H 97 &I 6 & 10 TY-IF707 F97 1 TPR & &, F4P 97 2 37! &7
&/

(iv) @Y C T ¥o7 &7 11 & 22 TTG-370F F97 II IHR & &, J9% 97 3 3P
#E |

() GUED § IvT G&IT 23 o TERT 97 4 371 BT 8 |
(vi) @USE H ¥97 G&I124 & 26 FH-3509 J97 &, 9% J97 5 37h] H1 & |

(vii) Y9-99 H GHT T HI3 f[dheq 787 8, 3¢ 41 2 37 aici veh Y97 H, 3 37| aret
v Y97 § 31K 5 37! arct @4t a7 el § it sa-19%ey 2 0§ | g%
Fieref &1 04 oAl & 1 f[aheyl § G HiF U Y97 57 BT & |

General Instructions :

(1) There are a total of 26 questions and five sections in the question paper.

All questions are compulsory.

(it)  Section A contains questions number 1 to 5, very short-answer type

questions of 1 mark each.

(iit)  Section B contains questions number 6 to 10, short-answer type I

questions of 2 marks each.

(iv)  Section C contains questions number 11 to 22, short-answer type II

questions of 8 marks each.

(v)  Section D contains question number 23, value based question of 4 marks.
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(vi)  Section E contains questions number 24 to 26, long-answer type questions

of 5 marks each.

(vii) There is no overall choice in the question paper, however, an internal
choice is provided in one question of 2 marks, one question of 3 marks and
all the three questions of 5 marks. In these questions, an examinee is to

attempt any one of the two given alternatives.

@usg <h

SECTION A

1. g %e 3R iy %e § I Fasy | 1

How does a degenerate code differ from an unambiguous one ?

2. el fawem (drenfaw) frel oft Sfta & ifies Sfia-=sk & Tt 1fd e
AT 8 | 31 IO STy | 1

Meiosis is an essential event in the sexual life cycle of any organism. Give

two reasons.

3. ‘o= wafies iR fgfioes 3udE A € & Tehar B 17 38 wed Y g
T | 1

“Man can be a primary as well as a secondary consumer.” Justify this

statement.

4. 3N 3 gleed g fduifed uitesfcua Tearal =i fafigu | 1

Write the hypothetical proposals put forth by Oparin and Haldane.
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5.  RNA UifeTmis I1 <1 1 s/ Bl & ? 1

Write the function of RNA polymerase II.

Qs @

SECTION B

6. Torami g g foredt & sraaiies (wdrfufaess) ofii & 3T A % Q@
AT 1 gera i | 2

Suggest two advantages to a farmer for using apomictic seeds of hybrid

varieties.
7. Tom-agera S & stewem & fow Swm. w3 gigifeer deriiee?
2 2

Why did T. H. Morgan select Drosophila melanogaster to study sex linked

genes for his lab experiments ?

8.  TIYH o4 YYH FIT AT 8 ? 3UY IA-TREI § Tohd TehW TR fierdt g 2 2
What is joint forest management ? How can it help in conservation of
forests ?

9. dfguSHA R Sfg:FRU o S 3T FATST | 2

AIAT

T TAC HdA o SYH hl gl H Saaeg B o SqH A A 8 3 |
TE AT | 2
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Differentiate between outbreeding and outcrossing.

OR

Bottled fruit juices are clearer as compared to those made at home.

Explain.

10. TEEEl Y g, TUETRd TH qatawiy qifedfai o fou fohd weRr sgeRfea
B8 ? 2

How does a desert plant adapt to the dry, warmer environmental

conditions ?

Qg

SECTION C

11. 3cddud o1 gidT g 2 39 W s Sfaey =i o fean mam g 2 3

What is amniocentesis ? Justify the statutory ban on it.

12. THd JSRE % HIEH G h1 Th AHIhd IN@ ST | 3

Draw a diagrammatic, labelled sketch of a sectional view of human ovary.

13. <1 3CEWN <l TERal 9 el faerm & samen hiflvu | 3

Explain divergent evolution with two examples.

14. (a) TF=fafea feafot § 89 ot q=a ami/Ades s 9™ 9qTsy

()  TTEa Yot BEegio AT THTEH % %ed & (oY ITiert S
H IqNEd 8 S

(i) 219 oA i T Ak gid (i) formm @
(iii) ST (URE T&9) XXY &

(b) SR feu U ywqt # Fifaa Qi/feerl T i Ush @&l Sdisu | 3
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(a) Name the kind of diseases/disorders that are likely to occur in
humans if

1) mutation in the gene that codes for an enzyme phenyl

alanine hydrolase occurs,
(i1)  there is an extra copy of chromosome 21,

(i1i1)  the karyotype is XXY.

(b)  Mention any one symptom of the diseases/disorders named above.

15. DNA-Yfeh{t i Aderefl ST & TR Y0107 Teqd i o T ArsgieH

% WK GUEAT i fohd ThR TYH Tehall AT 2 3

How was a heavy isotope of nitrogen used to provide experimental

evidence to semi-conservative mode of DNA-replication ?

16. SIEUIEfEh 1 Th @ AEH I8 W & fh 308 dgshmi-ufae wae &
Trer <ht fore faepfera <t S TeRdl 8 | TR Sarst for a8 fohm YR @ve
fora 51 @ | 3

One of the major contributions of biotechnology is to develop
pest-resistant varieties of cotton plants. Explain how it has been made

possible.

17. (a) UHfd H B et BIEHRE TR HIE Fehi o & I3 Ql 3T Fqrsy | 3
(b) ShauriEi # BiEwd i ggw fafiay |

(a)  State any two differences between phosphorus and carbon cycles in
nature.

(b)  Write the importance of phosphorus in living organisms.
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18. (a) URGA # Yok 9t &R o fIQ Iuyeh 3qm@tor dd gu wensti & fife
ST |
(b) 39k TRfUe ¥ vgel It TR & Tt ANy It T I TP 1 6N
Shiteh Y H TedT Sl & | SATET hiffu | 3

(a)  Construct a pyramid of numbers by taking suitable examples for
each trophic level in an ecosystem.

(b)  Explain why a progressive decline is seen in the population size
from the first to the fourth trophic level in the above pyramid.

19. SME 1 FHio w1 & v aifgd-aa 1 frg IR sEaaTa foRam ST gehdT B 2

GHSATHL ddigy | 3

How can sewage be used to generate biogas ? Explain.

20. 3UYH ICEWN 6! TEgal ¥ Sa-fafaygar @xawr o fofe bl &9 @ Iwnft 3K
Y ®Y9 & TN Tehl shl AT HINT | 3

Compare narrowly utilitarian and broadly utilitarian approaches to

conserve biodiversity, with the help of suitable examples.

21. 9ifed S o S& Sl APHA H FAEId H o T 39 ST 61 s gfe=n i
JMETTHRAT Bl 8 | 39 difed St i 92t ge | giodl TR e W
TfShaT ST 9TH SdTST qT IHeh] SIREAT shifoTT | 3
Many copies of a specific gene of interest are required to study the
detailed sequencing of bases in it. Name and explain the process that can
help in developing large number of copies of this gene of interest.

22, fqaed TEIfRITs UATeH EcoRI 1 fsham grr g==iis DNA fmfor =61 goifa &
T e gatg = sATET | 3
YT

DNA-GUE i Y i H AT ATIEITRR < TANT o6 (1T I ITaed hiH H
TIh dehrieh hl ATH SATST AT ITeh! SATEAT HifT | 3
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Prepare a flow chart in formation of recombinant DNA by the action of

restriction endonuclease enzyme EcoRI.

OR

Name and explain the technique used for separating DNA fragments and

making them available for biotechnology experiments.

Qs ¥

SECTION D

23. 379 U FEUR! g § TR S § WA §T | F@l A <@ ok FD
HEHH T I H 93 HI AN Ha1 ®@ o AR Forell ugred &1 da7 W © 9 |
ISl W H1E 39 YU § ¥ Ueh AGeh! NG T, STETH FIgR i ol AR 98
THH O AY9Y B T | [ B R/ Id1 o R A ot Aes (Aefie) e o
EERETRE N

(a) T A Y HIA-UA/TRS o ARG I 30 G hl FIAT < ?
BI/AT | 3194 IT hHT If¥ A o fofu HroT sars |

(b)  ford 2 TS wEe ¥ A s S A e wfe % a # o e
T % TR i st % fore o AR |

() 3 T o fRaa #i fhegl Q1 faleri 1 gema fT arfep 37 it
TgIdt % YA foh ST o Raars Aistami § Smid 9e sl S Heh | 4

57/2/3 8
Downloaded From: http://www.cbseportal.com



Downloaded From: http://www.cbseportal.com

24.

57/2/3

You have attended a birthday party hosted by one of your classmates.
You found some guests at the party sitting in a corner making a lot of
noise and consuming ‘something’. After a while one of the boys from the
group started screaming, behaving abnormally and sweating profusely.
On enquiry you found that the group members were taking drugs.

(a) Would you inform your parents/school authorities ? Yes/No. Give
reasons in support of your answer.

(b)  Prepare a note to be circulated amongst the schoolmates about the
sources and dangers of any two drugs.

(c) Write any two ways that you will suggest to your school principal
so as to promote awareness amongst the youth against the use of
these drugs.

Qs ¢

SECTION E

(a) Ued g TEdTfad uTferdr <1 f=m sarsu qen sqeh! samean i |

(b) TUYH ¥ THEHR F, 91 F, Tdfd & AA0TET 700 Joqwferan gumia &
Jafh AHE BRR o7 § gEyuTedT ewid & | ¥ o foufeEt et
THER F, 791 F,, Fafd 8 fopg JehR i 2 2 samen il | 5

AT

ohegferal H STgeEr-Nfhan 1 samen HIf | 5

(a)  State and explain the law of dominance as proposed by Mendel.

(c) How would phenotypes of monohybrid F; and F, progeny showing
incomplete dominance in Snapdragon and co-dominance in human
blood group be different from Mendelian monohybrid F; and F,
progeny ? Explain.

OR

Explain the process of transcription in Eukaryotes.
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25. UIfoEl-famRe HRIHH % 3T@d, oW § il &1 IHeH HH o fae fEfa
IR W TS TA W =T bl WieAAT o Feb A 7Y |

(a) dh1 (ddF) w1 B 7 2 wmenst fh 9= ° 399 fhw yeR UM &+
Tget gfeeetn Icar g1 St R |

(b)  TH-Uh IUYH IeTEWN hl TERCT & |fsha MR Ffesha afwan & dfw 7w
G 5
AT

SI9-35Th T B & ? HY H ITh! YHERT T JUH HINT | TH(Hh-3GTh hi
STUETT FAI-39Teh! hl T F0IAT & ATl B 2 5

Under polio prevention programme, infants in India were given polio
vaccines on a large scale at regular intervals to eradicate polio from the

country.

(a)  What is a vaccine ? Explain how does it impart immunity to the

child against the disease.

(b)  With the help of an example each, differentiate between active and

passive immunity.

OR

What are biofertilizers ? Describe their role in agriculture. Why are they

preferred to chemical fertilizers ?
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26. (a) UREEE! T WA o 1 O 3TRY ik sia & U0 qeh ht geareti 6

T HIfT |
(b) U Vel sis o fofimer 9l ot ehifemiati & TorEran-Eaw (EEora)
H I HIT | 5
YT
ael | Y= 3T 3Tatiqur gfshanadi shi samea shifa | 5

(a) Explain the events after pollination leading to the formation of a
seed in angiosperms.

(b)  Mention the ploidy levels of the cells of different parts of an
albuminous seed.

OR

Explain the process of fertilisation and implantation in humans.
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